Benzene And Aromaticity

from chapter(s) in the recommended text

A. Introduction



B. Common Aromatic Compounds
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correct name: cycloproplybenzene_.
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C. Heats Of Hydrogenation And Aromaticity
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-356 kJ/mol @ show levels of cyclohexene, 1,3-cyclohexadiene,

anticipated level for benzene if it were not aromatic
and actual level for benzene
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12 molecular orbitals
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6 p-orbitals

cyclic, conjugated, planar
The Hiickel Rule

electrons, follows Huckel Rule.

© aromatic because it has {4(1)+2}= 6 n-

aromatic because it has {4(1)+2}=6 n-
electrons, follows Huckel Rule.

does not follow Huckel Rule.

not aromatic because it has 4 n-electrons,
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@ not aromatic because it has 4 n-electrons,

does not follow Huckel Rule.

not aromatic because it has 8 n-electrons,

does not follow Huckel Rule.
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6 benzene MOs

not aromatic because this is not cyclic compound.

aromatic because because it has {4(2)+2} =10 -
electrons, follows Huckel Rule.

not aromatic because it has 4 n-electrons,
does not follow Huckel Rule.

not aromatic because of nonplanarity of the
methylene bridge

aromatic because the cation on methylene
bridge gives planar structure and 6 m-electrons

follow Huckel Rule.



D. Predicting Aromaticity
Carbocycles

aromatic.

5 resonance structures
is non-aromatic.
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non-aromatic.



C
D G

acenaphthalene perylene

9\
LN

Ceo pyrene

letracene

is not



